<BEE>

s NS (F)
[EEH4 fnfh/ mmiE Eh 18 2R 3R 4R
= fehe EIES ®E FIES ®E¥ EIES ®E FIES ®F
BEEAFER) HKBAIF/HIFHIE =&l 7 12,960 19,444
BEIEB(FXRX)
BEIEC(HERX)
<EHREZEME>
Sy br—3 /NFEAAE (F)
[EEH4 st/ g Eih 18 2R 3R 48
= A CIES ®E CIES ‘¥ CIES ®E CIES ‘3
REEHMEB
#FHEX)
< KEEHRE>
Sy br—3 /NFEAEAE (F)
[EEH4 fhd/ fmiE EH 18 2R 3R 48
= A EIES ®¥ FIES ®m¥ CIES ®¥ FIES EE S
KEEHREA
GIER)
HKBAIF/EBEER 11} 300g R F8 21,834 | 21,834 | 21,834
HKBAIX/EBRER L 80g AV 3,218 2,138 1,138
_ HKoAIR/HIFIE i 80g | /%v¥ 2,138
RIS N =4 K% 2,678
KBAIR/MEBRIRED A =51 AS Y/ 2,678
HKBAIF/HFIE =% AS Y/ 980
HKbAlZE/ER =%l A 1,382 861




